Honey



United States
Department of
Agriculture

Washington, D.C.

Released February 18, 1994, by the Agricultural Statistics Board. Estimates refer to 1992 and 1993.

United States Honey Production Up 4 Percent

Honey production in 1993 from producers with five or more colonies totaled 230 million pounds, up 4 percent from 1992. There were 2.88 million colonies producing honey in 1993, compared with 3.03 million in 1992. Yield per colony averaged 80.1 pounds, up 7.3 pounds from the 72.8 pounds in 1992. Colonies that produced in more than one State were counted in each State and yields may be understated. Producer honey stocks were 49.1 million pounds on December 15, 1993, up 26 percent from a year earlier.

Honey Prices Down 1 Percent

Prices for the 1993 crop averaged 54.4 cents per pound, down 1 percent from the 1992 price of 55.0 cents per pound. Prices are based on retail sales by producers and sales to private processors and co-ops. At the U.S. level, prices for each color are derived by weighting State average prices by the State quantities sold. Government payments are excluded from the honey prices published in this report. Lower prices received for water white and extra light amber resulted in the lower price for all honey in 1993.

	: Price						
Color Class	:Co-op and	Private:	Reta	il :	A1	1	
	1992 <u>1</u> / :	1993 :	1992 <u>1</u> / :	1993 :	1992 <u>1</u> / :	1993	
	:		Cents p	er Pound			
Water White, Extra White, White Extra Light Amber Light Amber, Amber, Dark Amber All Other Honey, Area Specialties All Honey	: : 53.9 : 52.7	52.8 51.1	74.6 80.9	73.8 74.3	55.0 55.0	53.9 54.4	
	51.2	49.8	80.5	88.8	55.1	55.5	
	: 48.6 : 52.9	46.4 51.7	95.5 78.7	103.9 80.3	54.2 55.0	55.6 54.4	

 $\underline{1}$ / Revised, includes honey produced in 1992 that was sold in 1993.

For information on honey prices call James Hand at (202) 690-3236. For information on all other items call Tom Kruchten at (202) 690-4870. Office hours are 8:00 a.m. to 4:30 p.m. ET.

Honey: Number of Colonies, Yield, Production, Stocks, Price, and Value by State and United States, 1992 $\underline{1}/$

	and	value by	State and Uni	iteo States,	, 1992 <u>1</u> /	
State :	Honey : Producing : Colonies :	Yield per Colony	: :Production :	: : Stocks :Dec 15 <u>2</u> /		: Value : of : Production
:	1,000	Pounds	1,000	Pounds	Cents	1.000 Dollars
AAACCFGHIIIIKKLMMMMMMMTEVJMYCDHKRACDNXTTAAVIY	270505956558455650557658891 47020595658455650557658891 240757630351 240757630351 240757630351	456574458131280723805705528651329195356384560 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1.7825 0.7825 0.7825 0.78290 1.79290 1.79290 1.88480 1.88485 1	113 1.285 4.094 2.7701 1.337 4.0847 2.7701 1.337 7.0408 1.285 2.1866 2.454 3.221 2.057 3.1868 2.1868	9522936428279417999415535111193048183428518584 5552655875575795556558966756757757557758584	0791 60791 60791 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 16.0721 17.0871 18.0822 17.0871 18.0822 19.8822 10.0732 10.0732 11.0873 11.0873 12.0873 12.0873 12.0873 13.0873 14.0732 16.0732 17.0873 1
0th :	9	26	. 234	63	99	232
US <u>4</u> / :	3,030	72.8	220,584	38,933	55.0	121,321

^{1/} For producers with 5 or more colonies. 1992 data revised. 2/ Stocks held by producers. Does not include stocks under loan. 3/ CT, DE, MA, NH, and RI not published separately to avoid disclosing data for individual operations. 4/ U.S. price weighted by survey expanded sales. Total may not add due to rounding.

Honey: Number of Colonies, Yield, Production, Stocks, Price, and Value by State and United States, 1993 $\underline{1}/$

			State and on		, 1990 <u>1</u> /	• • • • • • • • • • • • • • • • • • •
State	Honey : Producing : Colonies :	Yield per Colony	: :Production :	: : Stocks :Dec 15 <u>2</u> /	: Average :Price per : Pound	: of
:	1,000	Pounds	1,000	Pounds	Cents	1.000 Dollars
AAACCFGHIIIIKKLMMMMMMMNNNNNNOOOPSSTTUVVWWWWWAAACCFGHIIIIKKLMMMMMMMNNNNNNOOOPSSTTUVVWWWWW	19500300935200347570074473498552638158526000134	4773033671869706677701880284230677008123245725	43.5.08600933402001021000080622900000 43.5.0864894202010210000806229000000000000000000000000000000	1032801291328012913287.17700241199328612288555694592926555519903	70111110934960435253884489898355039233559675665 1555565655865685645545559865856866659555675665	573 2.118 1.862 22,360 11.526 2.688 940 5.005 546 1.646 7.87 202 2.142 3.812 7.632 4.98 4.604 3.137 7224 783 2.378 700 10.494 1.508 2.1316 683 12.498 1.508 1.508 1.508 1.509
Oth	. V ⁺		1,0/0	0,0	J .	2,020
Sts <u>3</u> /	9 '	40	360	219	126	454
US <u>4</u> /	2,876	80.1	230,368	49,063	54.4	125,320

^{1/} For producers with 5 or more colonies. 2/ Stocks held by producers. Does not include stocks under loan. 3/ CT, DE, MA, NH, and RI not published separately to avoid disclosing data for individual operations.
4/ U.S. price weighted by survey expanded sales. Total may not add due to rounding.

The next "Honey" report will be released in February 1995.

The United States Department of Agriculture (USDA) prohibits discrimination in its programs on the basis of race, color, national origin, sex, religion, age, disability, political beliefs, and marital or familial status. Persons with disabilities who require alternative means for communication of program information (braille, large print, audiotape, etc.) should contact the USDA Office of Communications at (202) 720-5881 (voice) or (202) 720-7808 (TDD).

To file a complaint, write the Secretary of Agriculture, USDA, Washington, D.C., 20250, or call (202) 720-7327 (voice) or (202) 720-1127 (TDD). USDA is an equal employment opportunity employer.

To subscribe to NASS reports or to order single copies, call toll free, 1-800-999-6779 (weekdays 8:30 a.m. to 5:00 p.m. ET). You may write: ERS/NASS, 341 Victory Drive, Herndon, VA 22070.